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I. Theories of Punishment

A. Deterrence – Should suffer punishment in order to and the extent needed to discourage the commission of further crimes and create the greatest good for the greatest number.  (utilitarianism ( greatest good for greatest number of people ( efficiency)  Justification of punishment is that we are increasing happiness in society by punishing those who do bad things.  
People are rational calculators who act according to preference of pleasure over pain.  If people know pain will result from crime (punishment) they will be less likely to commit crime.  (Posnerian economic calculus of criminals, rational calculation whether individual or aggregate)  But is there evidence for this/  Sociologists are divided as to whether criminals calculate.  Looks to the future for its judgments.  (consequentialist: weigh good vs. bad consequences)
1. Specific deterrence – punishment to prevent offender from reoffending, such as incapacitation or limitation on offender’s abilities. 

2. General deterrence – punishment aimed at preventing other persons from committing similar crimes in the future. Bergman - Ct places High value on deterring similar crimes (general deterrence); high value on not depreciating the serious of the crime (Model Penal Code) – any lesser penalty would do so.  We have to send Bergman to prison to send the msg to others that they should not act similarly in the future.  
Diff args on both sides about whether or not Bergman prison term would achieve aim of deterrence – sentence to one prominent person will be very good in genl deterrence – but otoh, it punishment is not a good idea in terms of achieving deterrence goals, it was treating Bergman (high profile) diff from low profile criminals, undermines respect for rule of law, doesn’t deter crime.
3. We don’t want max punishment, we want most efficient.
B. Retribution – Punishment is deserved to the extent of the wrong done by the offender. Wrongness is measured according to the nature of the harm done and the nature of the wrongdoer’s choice. Looks to the past for its judgments.  Penalty given needs to proportionately match the wrong, regardless of whether or not society will receive good consequences.  (nonconsequentialist: doesn’t worry about consequences, follows principles)
1. Expressive Theory of Punishment – Bridges gap between deterrence and retribution by justifying retribution in a different way.  We punish to the extent deserved because a concrete practical good comes of the punishment.  Mix of deterrence and retribution – it’s good for society overall to use punishment as an outlet for condemnation of the criminal, the power of retribution is itself utilitarian for socy in the aggregrate.
ACT + MENS REA (CAUSING A RESULT) W/OUT AFFIRM. DEFENSES = GUILT

II. Voluntary Act Requirement: Criminal liability requires a voluntary act or an omission to act (where there is a duty) that is committed while conscious and uncoerced.  (MPC §2.01)
A. Overt or voluntary conduct – 

1. Reflexes (if proceeded by voluntary act)
a) Man who knew he suffered from epileptic seizures drove his car on highway, had a seizure, lost control of his vehicle, and killed 4 people.  He made a conscious choice to drive his car, knowing of the potential dangers and was thus responsible for deaths even though event itself triggered by the seizure. 
(1) Although accident caused by involuntary act, can trace back in time to when voluntary choice made by defendant.  People v. Decina. 
2. Habitual actions
a) Habits are difficult to change but can be.  (Hypo of police officer who carries gun into courthouse without permission b/c she goes in all the time, walks around metal detector.  She argues not a conscious choice, just a habit, but still held responsible.)
B. Involuntary conduct – 

1. Coercion. – bodily movement not otherwise product/ effort of actor
a) A drunk man, arrested and taken from his home to a public highway by police, was found not guilty of public drunkenness because he did not voluntarily appear in public. Martin v. State.
2. Unconsciousness. 
a) A man claiming no voluntary act received the jury instruction of involuntary unconsciousness because he claimed no awareness of shooting a police officer after being shot in the abdomen. People v. Newton. Also sleepwalking.
C. Omission to act – [Omission to act + duty to act = voluntary act]
1. Legal duty of Care: duty neglected must be a legal duty and not one of moral obligation 
a) Court found that omission of an act confers liability only when the person has a legal duty of care, which was not explained to the jury in this case of a woman who let a 10-month old baby in her home die of malnutrition and lack of medical care.  Held there was no legal duty.  Jones v. United States.
2. Types of legal duty: 
a) Statute – things we are required by statute to do
b) Immediate family relationship (Husband/Wife, Parent/Child) – ct may expand this
(1) Man spends weekend with woman who is not his wife.  She overdoses on morphine and he does nothing to help.  Conviction reversed b/c although a moral duty no legal duty.  Beardsley.
c) Contractual relationship (Babysitter, Lifeguard, Doctor)
d) Voluntarily assuming the care/rescue of another – once you start caring for someone, responsible to follow through on that effort 
(1) Woman invites intoxicated man home from bar.  He uses heroine and then dies.  Convicted b/c she does not seek help for him - she took him somewhere that no one else could help him either.  Oliver.
e) Putting a victim in peril/ responsible for harm
(1) Rape victim jumps in creek.  Rapist does not help her.  Jones.
(2) Easy case if person caused harm in first place (hit someone with your car)
(3) Harder case if person ran into traffic, you hit him ( law says you must assist 
III. Mens Rea – mental state required to accompany the act 
 Voluntary Act + MR = Guilty
A. Level of Intentionality (Model Penal Code Definitions)
1. Purpose – A person acts purposely when it is his conscious object to engage in conduct of that nature or to achieve result.

2. Knowledge – A person acts knowingly if he is aware of a situation or that certain facts/ circumstances are true so that his conduct will cause a practically certain result.

3. Recklessness – A person acts recklessly when he is actually aware of and consciously disregards a substantial and unjustifiable risk that a certain result will probably arise from his conduct.

4. Negligence – A person acts negligently when he should have been aware of a substantial and unjustifiable risk that a certain result will probably arise from his conduct. What would reasonable person in the person’s situation be aware of, how would they perceive the circumstances wrt risk?
B. How to Read a Criminal Statute:
1. ID MR terms in statute

2. Define MR terms (in terms of MPC or common law)

3. Determine what elements of statute MR applies to and how

4. Determine defendant’s MR on facts (apply to situation of case)

C.  Examples of Mens Rea Discussions
1. Regina v. Cunningham – Statute said “maliciously” D removed gas meter to steal money inside which let out gaseous fumes almost asphyxiating the woman who lived next door.  He had no purpose/ intent to kill her.  Nothing showing he knew she was there or that the fumes would travel next door.  He may have been reckless if he was familiar with gas meters and was aware a gas leak could occur but acted anyways.  Judgment call as to whether he was aware of risk.  Possible he acted negligently.  Not convicted b/c no purpose, knowledge, or recklessness was proven.      
2. Regina v. Faulkner – Sailor went to steal rum from one part of the ship, lit a match to see in the dark, started a fire, which destroyed the ship.  Only convicted of stealing b/c he did not intend (no purpose) to set ship on fire and was not aware that what he was doing was dangerous and might burn down the ship (knowledge).  Needed purpose or knowledge or recklessness MR for arson to be guilty.     

3. US v. Nieswender – Δ tells defense atty he has connections with a juror, can ensure trial will go his way if he pays him.  Unable to ID corrupt juror so no proof of intent to undermine judicial process, only fraud. Told lawyer to do his best (would look suspicious) so didn’t intend for him to do a poor job (no purpose to obstruct justice), probably should have been aware that may happen (negligent) or maybe was aware (reckless) but thought he took measures to reduce risk.  Court convicts by interpreting “endeavors” as reckless or negligent instead of its usual meaning of attempt = purpose. Should have been aware standard, even though statute says “endeavors” ie purposeful (conscious object) standard.
D. Mens Rea Hypos:        
1. Purpose vs. Knowledge – Disgruntled ex-airline employee blames pilot for his being fired.  Puts bomb in pilot’s cabin.  Pilot killed by bomb, plane crashes, people die.  
a) He purposely killed pilot (had a desire, goal to do so). 
b) But did he purposefully kill passengers?  Need to prove he consciously sought to kill them.  Although no liability for purpose to kill based on these facts, in real life certainty they would die is high.  Argue he was aware of the consequences of his actions/ he at least knew the others would die.  Knowledge = aware of a practical certainty
c) What if people on ground were killed by employee’s bomb?  EE acted recklessly or negligently wrt their death.
2. Reckless – Maureen comes to LA from WI with pet poodle.  Leaves dog alone in car on a warm day for 1 hour.  Returns and firemen removing dog from car, who almost died from heat.  She is charged with cruelty to animals.  Must prove minimum recklessness mens rea – aware of a substantial unjustified risk.  
a. She argues she is from WI, not used to warm weather and thus unaware of risk. – she only has negligence MR – should have been aware of a substantial risk that was unjustified.
b. What if she says she knew it could get that hot but she forgot about the situation bc she was worried about the audition – then she is reckless bc she’s aware of the risk.
c. If she left an infant in car, her credibility changes.  Hard to believe she was unaware of risk. Everyone knows you can’t leave an infant in a car- see below
d. How do we know if someone is reckless or not?  We say “Everyone knows X” – D therefore knows X.  If it’s a situation where “everyone knows” – then we attribute knowledge of risk to D.
3. Negligence – Football coach running drills, lineman fatass dies from hot heat.  Collapses.  
A. Was coach reckless? Recklessness is awareness of substantial risk that is unjustified – maybe coach wasn’t aware of substantial risk –he’s just a coach, no formal medical training.  Was risk substantial? – medical science might not say for sure whether drills in hot weather are really that risky? Never happened before either;  Jury argument – risk as not unjustified  - running drills in heat makes them into men – weak argument bc lineman is collapsed.  Probably won’t win on unjustified.  However:
b. Was coach negligent?  Negligence is “should have been aware” standard.  Reasonable person in coach’s person would have been aware of risks at time practice began.  By virtue of his pos’n he should have known risks, he is responsible for players’ lives.  What is the act?  Scheduling practice a month in advance, starting practice on hot day, making player go after he collapses – any of them but there’s a varying level of negligence that can be proven.
E. Strict Liability – No mens rea necessary for the crime, just an act.  Committing act is all that is required for there to be a conviction.  – mistake of fact defense will not apply in cases of strict liability.
1. 4 Factors Used to Determine whether an Element or Statute is SL or not:
a) statutory language – see if it includes MR terms, if not chance for SL argument – where do MR terms appear in statute, what parts of statute do MR terms seem to modify – construing the statute.  Shawn M – People v. Olsen case – court has to construe the statute regarding SL as to age.  Court says we need SL as to kids of “tender years” – but remember stat rape 18 is not SL.
b) category of offense – traditional or public welfare (usually carry small punishment); infraction.
(1) Public welfare offense has Strict Liability – possession of marijuana.
(2) Non-traditional public welfare offenses require MR – Morrissette. Knowing conversion and stealing are kinda the same thing, stealing is a common law crime requiring MR.  “Common law” offenses require MR, no SL.  Morissette wants to bring MOF defense “I didn’t know this was US govt property” – if this is a SL offense (govt position) then he can’t bring MOF defense.
(3) How long of prison term/seriousness if penalty; 
c) inherent notice in prohibited conduct – if conduct is inherently risky, thus providing notice that person is engaging in something dangerous, can get along without MR  - Having a gun vs. having a grenade, Staples v. United States.  Having a gun is not “inherently risky” in opinion of USSC, it is not “very hazardous activity.  Thus, there’s no strict liability on the automatic weapons poss charge, it’s a MR-required crime.
We are presuming that a person undertaking certain very hazardous activity (such as possession of hand grenades) is already aware that what they are doing is wrong.  There is inherent notice in the prohibited conduct that it is wrong.
d) cost benefit analysis – how much it costs in terms of public safety to require MR and how much does it effect general behavior if SL is imposed – part of public welfare idea.
(1) example: speeding – costs of litigation can be very high if we require MR for every crime.  low cost to society if people get tickets that shouldn’t compared to good effect on society’s behavior to control speeding.  People can use MR to get out of speeding tickets.
2. Even in Strict Liability crimes, there must still be a voluntary act or omission to act- State v. Baker – Δ unsuccessfully contested voluntary act of strict liability offense when he claimed speeding was a result of a faulty cruise control system.  Court found he voluntarily used the device ( liability. Even in strict liability cases we need a voluntary act.  Baker tries to say he had no voluntary act. Court says “if you fiddle around with controls, you take your chances”. 
F. Mistake of Law – First, decide if defendant made a mistake that involved a matter of legal expertise.  Then see if the mistake goes to an element of the offense for which there is a MR term that modifies whether conduct is lawful or not (better if statute includes some term like “lawfully” or “lawful”).  Decide whether or not to recognize it by virtue of larger policy concerns.  
Keep in mind, mistake of law is generally not a defense.   Court’s don’t want to recognize it bc it makes the law uncertain, we don’t want to let certain people off and not let others off.  “Ignorantia legis non excusat” – usually!  
The question we always ask w/mistake of law (or mistake of fact) is, can the defense be introduced or not?  Usually it can’t even be introduced.  But even if it can, the jury must still agree with it (see below, Cheeks).
1. There are some exceptions:
a) Misled by official authority (judicial/legislative, not police) – read law and reasonably believed it said something else
b) If MOL negates MR needed for commission of crime (due to mistake D was not aware he was committing illegal conduct).  
(1) Specialized knowledge of area of law (especially if act is otherwise apparently non-criminal).

(a) D rips up floor boards he installed in his apt., thinking they belonged to him, when in fact they were apt.’s property.  Not guilty b/c MR required was that he “intended” to damage other person’s property and he had a reasonable belief that the property belonged to him due to an unawareness of this area of property law.  “Without lawful excuse” PKR modify destruction and property of another.  Need to know that you’re destroying property and know that property is another’s (or be aware of a significant risk).  Property law is complicated.  Regina v. Smith.

(b) D structures transaction so that instead of paying large lump sum to casino and having to report it, he obtains small $ amounts from several banks to pay.  To convict need to show he knew this was illegal.  Ratzlaf.

2. An honest belief that the law does not apply to you is an allowable mistake of law, in limited situations.  Such as for a tax violation – Congress doesn’t want to punish someone unless person was aware of his wrongdoing.  Tax law is complex.
a) Supreme Court allowed mistake of law defense when man failed to file income tax based on his “honest belief” that he thought he did not have to.  He needed actual awareness that he had to pay and then not pay.  Since his belief was found to be honest but UNreasonable when returned to trial court, he was convicted for negligently not paying taxes.  Cheek.

3. Misreading a statute is not a mistake of law defense. 

a) Court did not allow mistake of law defense when corrections officer believed he was considered a peace officer under a statute which allows for concealed weapons off duty. Marrero 
(1) Argument is too good and will allow too many people to claim they misunderstood law.  Threatens certainty of criminal law if we allow mistake of law excuse too much.  
G. Mistake of Fact – On occasion, the evidence will show that the defendant did not form the mens rea necessary for the crime because he or she made a key mistake of fact.  In such a situation, mistake of fact is a full defense.  
An honest mistake (but not necessarily reasonable), if believed, will negate purpose, knowledge, or recklessness.   P/K/R mens rea deals with the mind of the actor, if actor honestly had a certain belief, then he can’t have an inconsistent state of mind.  Let’s say I honestly don’t believe guns kill people and I shoot the gun off  and kill someone, and my mistake is believed.  Negates P/K/R mens reas.
An honest and reasonable mistake, if believed, will negate negligence – coach example – every negligence MR is going to involve an honest mistake – to defend in negligence case we need MOF that was honest and reasonable – (say coach was told by Dr. that having practices in hot weather OK, now his belief is reasonable too).  
1. Analysis: 
a) Does alleged mistake of fact relate to element of offense which requires MR (a material element)?

(1) If so, does evidence of mistake negate proof of MR?
(2) If not, will court alleviate harshness of SL element by recognizing affirmative defense for honest and reasonable mistake? 
2. When MOF does not negate MR:  (strict liability as to element where there was a MOF)
(1) Courts will find no mistake of fact if the mistake of fact does not relate to a material Mens Rea element of the crime, as defined by statute. For example, when the defendant is convicted of a sexual offense with a minor, he cannot claim he did not know the victim’s age as a defense. Certain groups receive special protection under the law, and statutes make knowledge of attendant circumstances, for example with respect to age, strict liability. 
(2) Δ’s had sex with underage girl (13 yrs.) but had reasonable belief she was 16, she told them she was.  Guilty b/c of emphasis placed on protection of children under 14.  Olson
b) Sometimes court ignores MR requirements.
(1) Δ convicted of taking girl younger than 16 away from her parents although he honestly believed she was 18.  Court acknowledges there was some MR elements in the statute drafted, but it believes the act itself was morally wrong (violates patriarchal rights), so there’s SL as to the girl’s age at time of illicit sex (Victorian England) Prince 
c) Transferred Intent – if intending to kill one person, you kill someone else.  MR transferred to the person killed.  No MOF can be used.  Try to bomb president’s car but he’s not in it, kill secret service agent instead.  Can’t say “I made a mistake of fact as to who would be in the car at the time I exploded the bomb”
3. When MOF does negate MR – offenses that require MR (see above):
a) A man who took casings from Air Force Base was not liable for stealing because he mistakenly thought the casings were abandoned, and knowledge that property belonged to another was required by the statute. Morrissette.
b) Man not liable for possession of a deadly weapon because he was not aware that his gun had been altered to make it fully automatic and knowledge that the gun is automatic was implied/ required by the statute. Staples.
H. Legality & Vagueness – constitutional critique of criminal procedure.
1. There must be a legislatively enacted offense in order to convict someone of a crime.  Legislature makes the law, juries and judges only interpret them.
a) Man ran a directory containing names and #’s of prostitutes.  In England where jury was allowed to decide on a case by case basis whether improper behavior should constitute a crime.  It was OK to convict the guy in England, bc the behavior was clearly improper or unethical, so it’s consistent for court to intuit Parliament’s intent (criminalize improper behavior) w/o regard to language of statute.  
b) Shaw law said “conspiracy to corrupt public morals” - In US, that would have violated the principles of legality, too vague in description.  Danger is that court will create new crimes  Shaw.  
2. A statute violates due process if, in its vagueness, it does not give adequate notice to the public of what offenses are punishable.   Statutes must not be so vague as to make it unsure what sort of conduct is prohibited.
a) Chicago loitering ordinance held unconstitutional by Supreme Court due to overbroad language, leaving too much discretion to police officers to enforce.  No adequate notice to public as to what the criminal act consists of exactly.  Morales.  This is limited by constitution – “due process of law” – if law leaves public uncertain about the conduct it prohibits it’s unconstitutional under due process clause.
IV. Homicide

A. Intentional Killings
1. first degree murder: A killing committed with purpose to kill and indications of reflection (premeditation) upon that killing.  (without provocation)
a) Purpose to kill = conscious object to end someone’s life  - shown by 1) defendant’s words; 2) circumstances of the situation; or 3) the use of a deadly weapon on vital part of the body.
b)  premeditation:  calculation or reflection about the act itself.  Can be interpreted 2 ways.

(1) Carroll approach: could have formation of purpose to kill with very little time passed for premeditation, could have deliberate thought formed in matter of seconds.      

(a) D guilty of 1st degree murder after shooting wife in head while laying in bed with her, minutes after a fight.  Court decided no particular timing, planning, or emotion was necessary to prove premeditation.  
(i) Purpose to kill + additional pieces (like 5 minutes of reflection) (Let jury decide if there was reflection based on facts)  Carroll.    
(2) Guthrie/ Anderson approach: to kill purposely after fully contemplating the purpose to kill possibly evidenced by planning, manner of killing, and motive.  Must have deliberation period but time required is unspecified – jury decides whether there was contemplation but prosecution has to prove extra element.          
(a) D can’t be found guilty of 1st degree murder after killing co-worker who insulted him and snapped a towel at his nose bc jury was not instructed about premeditation and time required for contemplation to prove premeditation.  Δ stabbed him in neck with knife Δ had in his pocket.  The other guy says “what are you doing” all happened very quickly.  Not enough evidence to show Δ considered his decision to kill.  Guthrie requires specific intent to kill + reflection time + act to kill.  Guthrie.
(3) Indications of Reflection (Anderson factors): 

(a) Timing – space in which reflection occurs – how long between intent to kill formed and killing.
(b) Planning – evidence of reflection – evidence of bomb designs, notes he wrote, stmts of Defendant.
(c) Motive relationship – reason for wanting to kill person (doesn’t necessarily indicate reflection) – some indication of planning bc person is thinking about husband/wife – idea of built up thinking. We are asking, is the particular motive here (family/friend murder, hiring of killer) indicative of premeditation?
(d) Manner of killing – way in which killing was executed
(i) D not guilty of 1st degree murder after killing 10 yr. old boarder he lived with.  No evidence murder was planned, no prior relationship with her suggesting motive, and manner of killing suggested sudden explosion of violence.  Anderson.       

2. second degree murder – An unpremeditated killing with purpose to kill without provocation.  (spontaneous homicide)
3. voluntary manslaughter – Purpose to kill with provocation/ EED.
a) Both Provocation and EED are affirmative defenses to Murder.  Can mitigate purpose to kill murder to manslaughter.  

b) All provocation defenses need actual provocation and reasonable provocation.  If there’s too much cooling time that bears on whether there was “reasonable” (justifiable) provocation for the act.
c) Provocation (common law)  - 
(1) Rule:  Legal provocation requires 1) actual heat of passion; 2) legally adequate provocation (falls into categories for “reasonableness”) and 3) lack of cooling time (D would not have cooled off at time of acting).

(2) Girouard Approach (Categorical) – D killed his wife after a fight they had in which she had been extremely verbally abusive and insulting.  Convicted of 2nd deg. murder, on appeal court said he could not bring up defense of provocation to lower his conviction to voluntary manslaughter.
(a) Categories of pre-determined provoking conduct: (1) discovery of adultery, (2) extreme assault and battery on Defendant (can’t be a trivial battery) or a loved one
(i) Physical provoking act required.  Words are not sufficient provocation.

(b)  Strict – Judge restricts when juries can look at provocation (must be in 1 of those categories).  
(c) Must be provocation within category + no “cooling time” (undefined period) = go to jury.
(3) Maher Approach – D convicted of attempted murder after shooting a man he discovers is sleeping with his wife.  Guy in tavern, goes into woods, never saw actual adultery, saw them going into and out of woods.  Another person told him that the wife had committed adultery.
(a) Provocation must be such that a reasonable person would be sufficiently enraged.  Judge allowed jury to hear evidence that D discovered the adultery and acted in heat of passion. 

(b) Flexible – Question of reasonableness goes straight to the jury to decide if there was sufficient provocation such that a reasonable man would have lost control of his emotions in the same way when faced with this event.  
(c) Jury decides re actuality of provocation and reasonableness, using would “reasonable man” be justified in losing control of emotions in response to the action observed.  “Cooling time” factors into the “reasonability” of the reaction but it’s only an implied element.
d) Extreme Emotional Disturbance (MPC)  - MPC has “reasonable person” standard plus eed. Most jurisdictions don’t agree w/model penal code and allow EED
1. Rule: A purposeful killing committed due to extreme emotional disturbance for which there is a reasonable explanation or excuse is a voluntary manslaughter.   EED existence is a subjective element, we decide based on our feelings about whether D was under EED.  We view the reasonable excuse for the EED reaction  by asking what would the emotional reaction of a reasonable person be, if he were examining the situation from the actor’s viewpoint and understanding of the circumstances (objective element). 
(a) No specific act of provocation needed, no cooling time limitation, acknowledges diminished capacity/ mental condition.
(b) Rejects common law approach, most subjective standard for provocation.  
(c)  D killed his ex-girlfriend, sneaks into her house, lies down on bed naked, brings her booze and then she rejects him.  D claims the devastation at her rejection gave him an EED and caused him to act, and that his reaction was reasonable (excusable to vol. msl) via EED.  Court said there is no provocation defense b/c his reaction to the rejection was not a reasonable person’s reaction.  
(i) Court decides his actions are “too peculiar.”  Even though MPC provides subjective test for provocation, not all responses qualify as “reasonable.”  Still requires some normative assessment. The truth is that the court really cannot explain why they think, given circumstances, the reaction is not justifiable.  They resort to “too peculiar” language as another way of explaining decision. Defense: Placing “reasonable person” in EED victim’s shoes would always seem to lead to acquittal; but prosecution wants to say “fine he was really upset, but would any reasonable person” lose control to EED in this circumstance.  Casassa.


(ii) They are always “wrong” for doing the act, but are we going to give them mercy for a “justifiable” emotion.  Would a reasonable person be justified in feeling that angry (but of course not justified in acting?)
2. Defense is always going to want to individualize more in EED, allow more individualization undertaken by jury; prosecution wants more objective “reasonable person” standard.
B. Unintended Killings
1. Depraved Heart Murder –  (CA, 2nd Degree)
a) Rule: A depraved heart murder is a killing committed recklessly, under circumstances manifesting extreme indifference to the value of human life.  Indifference to human life is shown by recklessness as to a substantially high/unjustifiable risk to life.  This is a subjective determination, jury decides how high the risk was, how serious the recklessness was.  Recklessness must be “bad” recklessness, jury decides what is “bad” or “extreme indiff”.
(1) Dentist convicted of depraved heart murder for death of patient while undergoing treatment.  Protopappas case  ACT + MR (recklessness)
(a) Act: administering anesthesia OR omission to act (give aid); using this as act lets us only introduce that knowledge from other Dr; using omission to act as Act lets us use all the events that happened earlier on in our recklessness analysis (stronger)
(b) MR of Recklessness shown by:
(i) Act: give large amt. of drugs for small, sickly girl; lack of supervision (he was told this was risky).  OR

(ii) Omission to act (dr’s knowledge) failure to monitor her adequately after drugs given; failure to provide proper oxygen equipment; failure to call paramedics quickly

(c) Recklessness as applies to Depraved Heart (extreme indifference):

(i) Extreme indifference to human life: when her breathing becomes abnormal he does nothing

(a) Qualitative aspect of indifference: no specific definition, just a particular coldness, not caring 

(b) Not a MR req. but way of saying this recklessness is bad enough to call murder 
2. MPC – manslaughter based on recklessness without extreme indifference to human life 
3. Involuntary Manslaughter – Unintentional

a) Rule: When a killing results from a defendant’s grossly negligent act, he is guilty of an invol. msl.  A MR of gross negligence involves a gross deviation from the standard of care that a reasonable person would use in the same situation (D should have been aware of an unjustifiable risk in failing to act).  
b) Parents neglected to seek medical attention for their baby who had a serious tooth infection when a reasonable person would have called a doctor.  Convicted of manslaughter b/c reasonable people in their situation would have sought medical care.  Williams.   
(1) How do we decide what a “reasonable person would do”
A. Objective standard – Holmes “should have been aware of substantial risk” – idea of general deterrence in society – Courts sometimes use this, Church of Christ, Scientist
B. Subjective standard – HLA Hart, need to individualize as to specific education level of the person – more of a retributive theory, punishes only those who deserve it – States do invididualize in some cases, State v. Everhart, 72 IQ of mom who smothered baby.
C. MPC – “should have been aware” is not even invol. msl.; it’s criminally negligent homicide.
c) Perhaps a better negligence definition (according to Pillsbury) – Notice of warning facts + bad attention priorities = culpable indifference
(1) Example: if parents abused their child.  Father who is driving recklessly to take daughter to hospital vs. reckless-driving teenager; both run over a kid. 
d) Walker case - 
C. Felony Murder 

A + MR(lesser crime) + result of greater crime = guilty (greater crime) 
USUALLY WE DON’T USE THIS…BUT IN FELONY MURDER:

A + MR for felony + producing death (result of murder) = Guilty of F-M
1) Enumerated felony-murder: When D acts to attempt a felony (specifically enumerated in the statute list), and a death result, D is guilty of felony-murder.  A FM conviction is made without regard to foreseeability of the death.  The only MR required is the statutory MR of purpose required for felony (or attempted felony). (equivalent to first degree murder)

(1) Defendant must be guilty of felony ( felony caused death ( felony must be one of the enumerated felonies 
(2) There is no requirement that the killing occur while committing the felony. 

(3) F-M is not limited to those deaths that are foreseeable.

(a) Robbery of business during which no physical assault took place.  Owner of business had a bad heart, had a heart attack, and died soon after robbery.  Robbers convicted of F-M b/c robbery triggered his heart attack.  Stamp.

2) Inherently dangerous felony-murder: A killing committed during a felony/attempted felony that is inherently dangerous to human life without regard to foreseeability of the death or any further act other than the felony/attempted felony.  (equivalent to second degree, CA)
(1) Broad category b/c it encompasses unlisted felonies and must be determined by looking at the statute to see if it requires D to have done something “inherently dangerous” as a felony.  

(2) Felony category must be dangerous as described in the statute, not the specific facts of the crime.  “Inherently dangerous” means prima facie inherently dangerous, per statutory description.
We ask: Can someone be convicted for the felony in question and not have done something dangerous to human life?  If so, then not inherently dangerous offense.  
i. Chiropractor persuades parents to let him treat their daughter for cancer instead of her having surgery.  Patient died 6 months later.  Δ not convicted of F-M b/c felony he committed was Grand Theft (for fraud) and it is not an inherently dangerous felony.  Phillips.

ii.  Hypo: Statute – Satchell Case – possession of firearm by ex-felon was the felony in question (sawed-off shotgun); firearm was used by ex-felon to kill.  prosecution tried to get inherently-dangerous felony murder (2nd degree) and say “inherently dangerous.”  
iii. Is this an inherently dangerous felony?  No, b/c not all felonies under it are inherently dangerous.  If medical treatment leads to a broken limb it satisfies this statute but not conduct that is life threatening.

3) MPC –  Felony murder with presumption you have committed felony with gross recklessness towards the victim – that is a depraved-heart murder.  Can allow people who are accomplices to get off, they didn’t act with recklessless, potential way out for accomplices via accomplice liability.
  D. Burden of Proof

(1) Act + MR ( R = essential elements of offense that Prosecution has burden of proving “beyond a reasonable doubt.” - 

(2) Affirmative Defenses = Defense usually has burden of proving.

(3) Burden of Production:  burden to raise the issue.
i. Prosecution has this burden with respect to essential elements of offense.
ii. Defense has this burden with respect to affirmative defenses.
iii. KEY ISSUE – ITEM BECOMES ESSENTIAL ELEMENT IF ADDED TO STATUTE LANGUAGE, FOR EX., IF STATUTE SAYS “AND WITHOUT INSANITY” Then prosecution has to prove beyond reasonable doubt the 
(4) Burden of persuasion: once an issue has been raised as to existence of an element, one party must prove the existence/nonexistence to a certain level of certainty.  The party which must prove to that level of certainty is said to have the burden of persuasion.
V. Causation 

A. Distinguishing MR and Causation – 

1.  MR towards victim and MR regarding actual manner of harm to victim (easy case) – death or injury occurs exactly as D intended – contract killer, killing goes forward just as he suspected
2. MR towards victim but no MR towards manner of harm (requires additional analysis because no simple but for causal chain) – harm occurs in a way that the D did not anticipate.
3. Remember, D has to have a MR required for the resulting crime he’s being charged with.  Initial D MR needs to be at level that final crime MR is at (in statute). If we’re charging him w/murder under a proximate cause doctrine, he needs at least recklessness (depraved heart).
B. 2 Stage Analysis: But-for cause (factual cause) and Proximate Cause
C. Factual Cause (But-for cause) – Acts must be part of the chain of causation.
1. Was D’s action a critical link in the chain of events causing the ultimate result? – Usually no problem here.
2. Focus only on the D’s actions – even if the actual manner of harm ended up being caused by someone else’s acts.
3. Only time it gets more difficult is if we have two simultaneous and equal contributors – neither on their own would qualify with the but-for cause.  This is called the “substantial factor” – did each D make a significant contribution to the death? Then it satisfies but-for for each defendant Traditionally it would only be an attempt.  But we still say there is “but for” level liability.  The exception is substantial factor.  
D. Proximate Cause – There must be a close enough connection between defendant’s MR and act and resulting harm to hold defendant criminally responsible for the result. Courts look at:
1. Predictability of result – was result “reasonably foreseeable” (common law); “not too accidental or remote” (MPC); “highly extraordinary” (CA Sup Ct).
a) How likely was the end result to occur? – key issue is how we frame the question (see below)
Prosecution wants a general statement, framed in broad, simple terms.  Defense wants details.  The more particulars of the event sequence are presented, the less likely we will see the D’s perception of the final event occurring as “likely”.

b) Determine if any factor breaks chain of causation – did some other factor enter or some other major actor enter in (surgeon does surgery on person who got nonfatally shot)
c) Non-Intervening Factors (things that don’t break chain of causation):

(1) Medical cases – negligent medical care does not break the chain of causation.  It is within realm of foreseeability But extreme malpractice does.
(2) Emergency professionals will not break the chain in course of duty.  (firemen, police, etc.)
(3) Pre-existing condition, such as heart trouble, does not break the chain of causation (Stamp).

2. Normative judgment of conduct by defendant v. victim contribution (victim’s actions that contribute to his death)   - even w/relatively unpredictable result
a) make normative decision about connection between D’s original wrong and whether it is fair to hold him responsible for what has occurred – maybe the connection is not really there, but we still often hold responsible
b) how bad was what D was doing? – was D committing a crime or simply being negligent in some way (bubble gum factory); what was D’s overall goal?
c) Who died?  Another criminal, or a police officer?
d) Third party/victim contributions?  Who is third party, who is victim?  That affects our assessment of their role in causality.
e) If foreseeability is in reality attenuated, we might use our normative assessment to reach proximate cause existence.
f) Can be useful to reason by analogy!!!!
E. Evaluating causation – 

1. Frame the issue clearly.

2. Argue by example.

a) Acosta (Forseeability) – Δ leads police on a chase through multiple counties. Helicopters from different counties trying to follow Δ crash in mid-air because of pilot error. Δ responsible because 1) but for Δ’s acts the helicopters would not have crashed, and 2) the result was foreseeable given the risks of high speed chases.  Death not such an extraordinary outcome.  Normative assessment as well – he was endangering lives of police.  

1. say Acosta had recklessness mr -  but for is easy; proximate cause – how foreseeable was it to D that his act would result in death of pilots. 

Procecution wants a broad question – simple issue – Prosecution says “in this egregious, exteremely dangerous case, would it be possible that in the heat of the chase, an accident could occur”

2. Defense wants a specific question – how would D know that an unprecedented helicopter crash could occur when he goes on a simple car chase.
b) Arzon (intervening factor) – D started fire on 5th floor and firefighters were called. While there, another fire started on 2nd floor, killing one FF. D was responsible despite interference of other fire because but for D’s conduct FF would not have come to the building.  Proximate cause itself can go either way here – arguably intervening factor, arguably D was setting only a small fire (question phrasing based on facts)  “Depraved heart murder, indifference to human life” – need to show recklessness.
(1) Yet we feel more comfortable finding a proximate cause.  We can have a normative assessment of D’s conduct that affects our calculation, we can have a normative assessment of third party contributions, that affects our proximate cause decision We like FF, not arsonists.  Affects our proximate cause conclusion.
(2) Normative assessment; this is def a case where normative assessment is involved – kills firefighter, not a terror cell.
c) Warner-Lambert (normative assessment)– Company not liable for explosion when it’s origin never determined, even though co. had been warned chemicals it used to make chewing gum created explosion hazard and those conditions were present. 
(1) But-for causation here – but for company’s conduct ignoring what they were aware of, would the result have occurred?  No.  So we have but for causation.  

(2) More foreseeable than Arzon because of the warning involved.  And there is the factual issue of actual spark not being produced by company, less foreseeabilty; also normative assessment involved.   But due to different normative assessment (we like companies engaging in lawful manufacturing more than arsonists) no causation found.  If this had been meth lab, causation would have been found.  We would have the same proximate cause analysis in meth lab/WL case, but 
(3) Normative assessment could go either way – big business can be bad, depends on who is deciding.
(4) Compare with Commonwealth v. Wolansky – running a nightclub is “bad thing to do”; therefore nightclub fire case we find owner guilty..
d) Root (normative assessment, involves victim contribution) – D’s acceptance of challenge/participation in car race, although reckless, was not sufficient cause for criminal liability because the action of the victim of swerving into on-coming traffic was the immediate cause of death.  We have but-for causation but court finds no proximate cause.  D did not force victim to make maneuver he made and thus victim is more at fault in his own death.  Victim’s bad actions, who was victim?
(1) Change the victim though: -  and case comes out differently.  What if victim was non-participant?  motorcyclist coming other direction?  Then we do find racer guilty of crime.  Shows normative assessment.  Take forseeability at face value, we should come to same result; yet we don’t say that here.
(2) Reckless and suicidal act – that’s why we blame victim and not D for death, why we allow victim’s act as intervening cause.  but in motorcyclist case, no.
e) Atencio (Normative assessment) – Two men were liable for homicide by participating in a game of Russian roulette where one person died.  Victim would not have died but for their collective agreement to play this game.  Underlying conduct is one we normatively hate, this dislike of their conduct in combination with high predictability of death influence court’s decision.  Arguable on but-for causality – groupthink, game scenario – but actual act was victim’s act.  Arguably proximate causality - victim contribution.
1) but we have normative assessment – bad game to play, D was egging victim on. We want to discourage Russian Roulette more than drag racing.
2) Racing forseeability vs. Russian Roulette foreseeabiltiy of death – death definitely assured in case of Russian Roulette.  Drag racing is a skill thing.
f) Kibbe (normative assessment) – D’s convicted of murder when they abandoned their intoxicated robbery victim on the highway in below-freezing temperature w/o glasses or clothes and he was run over by a truck. D had recklessness MR; bad actors, so we don’t have sympathy for them.  Ds were robbers, normative assessment.  There was also clear foreseeabiltiy, given a cold night, etc.
Could also be a felonymurder case, robbery + end result is death.
g) Frat president example – Frat guy is killed by murderer on st. after drinking tons of alcohol.  Act w/Recklessness MR of frat pres.  But-for causation OK (but for drinking/omission to act of frat pres); proximate cause is difficult bc 1) victim contrib.; 2) intervening factor of murderer. Change hypo to traffic accident and…normative assessment makes us feel it was a more proximate cause.   Even though act w/mr and facts of case have changed only slightly.
F. Transferred Intent – If someone intends to kill one person but accidentally kills another proximate cause exists. In this case, it doesn’t matter whom the intent is directed at, only that there is intent. There can be no other intervening factors or else causation doesn’t work.
1. Classic example: D travels to London with intent to kill the Prime Minister but instead kills his secretary.  MR does not change, only difference is between intended and actual victim.  M’Naghten.
VI. Attempt 
A. categorizing underlying offense: 
1. result offense:  statute explicitly requires offender cause a particular physical harm to person or property (murder, manslaughter, battery) - physical injury, monetary injury, or death.
2. conduct offense:  prohibit particular conduct but do not require particular physical harm to result (burglary, sexual assault, rape, etc.) – 
B. mr analysis: 
1. Attempted result offenses: (2 steps) Need purpose with respect to achieving the result. 

a) Smallwood: Man charged with attempted murder for raping 3 women and having unprotected sex with them while knowingly HIV positive.  Need to prove purpose to kill since this is a result offense but since he never explicitly said he wanted to infect/ kill the women, cannot convict.

(1) Can have attempted premeditated murder, attempted purpose to kill, attempted voluntary manslaughter.

(2)   Can’t have attempt for negligence or recklessness crimes because the mens rea terms conflict.
(a) Can’t have attempted depraved heart murder or attempted involuntary manslaughter.
b) Sometimes leads to strange result – prison inmate w/HIV spits at guard, yells “Im giving you HiV!” he def has attempted murder, yet his conduct is not as bad as Smallwood’s.
c) There is no attempted felony-murder because there is no purpose to kill.  You can, however, use attempted robbery, rape, kidnapping, etc to obtain felony-murder conviction if death results.
d) How can we prove someone has MR of purpose to kill?  1) D’s words (see above); 2) physical positioning of the parties at the time the act took place (contrast Smallwood w/gun firing), implies predictability of result given act that took place.
e) If we had letters from Smallwood discussing his plans for serially raping and infecting w/HIV, he gets off; if he said “I’ll give ‘em HIV so they die”
2. If there are other MR requirements for underlying result offense consistent with purpose required for attempt, D must satisfy these additional requirements.

a) Example: attempted premeditated murder 

(1) In addition to purpose to kill, need premeditation 
Need MR of purpose to complete offense + any other MR needed for completed offense.
C. mr anaysis: attempt of Conduct offenses: (3 steps)

1. Need purpose to commit essential prohibited act

a) Purpose to possess (marijuana); purpose to possess (gun) – inferred from statements or physical circumstances
2. Need MR that is required for underlying offense (offense allegedly being attempted), other elements of statute.
3. Evaluate if D acted with MR for underlying offense.
4. Hypo: D is truck driver with truck loaded with toxic materials.  Truck’s brakes not in good shape.  He has been warned to fix them but has not done so.  He is in a rush.  CHP stops truck just before it goes onto the freeway and it is clear the brakes were just about to fail and there could have been a serious accident.  Is driver guilty of attempted “dangerous driving” offense?

a) Statute does not require explicit physical harm so it is a conduct offense.

b) Act: purpose to drive

c) MR: recklessness re: dangerousness 

d) Was driver reckless with regard to his driving?  Yes, he was aware of the risk of driving but he drove anyways.  If he had not been stopped by CHP he would have been guilty.  
D. overview of complete attempt Analysis:

1. Result or Conduct offense

2. ID statutory elements required for completed offense/change for attempt 
3. Act (apply Act Requirement rules) 
a) Abandonment, if necessary 

4. Impossibility/ Hypothetical Reasoning (if necessary)
5. Mens Rea

E. The act requirement – must figure out how much of an act towards the underlying offense is required
1. Dangerous Proximity to Success test (common law) –  The defendant’s acts demonstrate a closeness to committing the intended offense so as to give rise to our anxieties about that offense.  
a) No abandonment defense.  

b) Subjective test – harder for prosecution – D can say “I was still very far from doing anything”
c)  Rizzo – using dangerous proximity rule – Ds were looking to rob man of pay roll but while searching for him they are arrested, before even finding him.  Not guilty b/c they are not in dangerous proximity of success.  Under substantial step, they’re guilt; under dangerous proximity no.
d) We typically think of dangerous-prox action as close to the time of crime commission.
2. Substantial Step Strongly Corroborative to Criminal Purpose (MPC Test) –   Enough physical conduct to demonstrate D’s MR and the firmness of his criminal intent.  Less worried about what is left to be done before crime is committed and more concerned with what D has already done. 
a) Lying in wait; searching for or following contemplated victim of crime; staking out the joint; possession of materials, which have no other lawful purpose, fabrication of materials to be used in commission of crime, near the place for commission of crime.
b) Allows for abandonment defense, where substantial step is the rule.

c) Better for prosecution – prosecution just has to show “all that’s already been done”
d) Defense CAN SAY “these are just wannabe criminals”
e) D’s convicted of attempted robbery even though they never entered the bank and the previous day they lost their nerve and did not commit the robbery.  Arrested while still in the car.  Guilt based on MPC substantial step test: showed purpose to rob bank (possession of shotgun, masks, cardboard license plate, etc).  Corroborated by witness.  Jackson
f) Can include things we might typically think of as preparations, but can also be beyond normal prep, opening door to bank, if not in bank.  We may think a substantial step is “unequivocal”, corroborative of intent – Staill case.
3. Time Line:
   _____<--Sub step --> ____________Dgr Prx______Last Step_____Completed Offense

F. abandonment – common law eliminates this defense 

1.  Δ gets to particular place to commit a crime and then pulls back, deciding not to commit the offense.  
2. Common Law – does not recognize as a defense b/c act requirement not until close completion of crime/ highly unlikely he had a sincere change of heart.
3. MPC – recognizes as defense where Δ shows complete or voluntary renunciation or he has abandoned his efforts before the crime has been completed (b/c act requirement is earlier)
G. impossibility  - lack of causation  - couldn’t be convicted of completed offense, but can be convicted of attempt
1. Rule: Under MPC, if a person has the requisite MR for a crime and he purposely engages in conduct that would constitute that crime if the facts were as he thought them to be, then he is guilty of attempt of that crime.  
2. Act w/MR either of purpose to commit offense/ MR of purpose to commit essential prohibited act + hypothetical reasoning of D wrt the missing element.  
3. D needs to believe that it is possible to achieve the result; OR that it is possible for him to do the prohibited act. 
4. Analysis:
a) Is there anything about the real situation in which D found himself that made it impossible for him to actually commit the underlying crime?
(1) Evaluate if facts were as Δ believed them if missing element were present. 
(a) Hypothetical reasoning: if Δ believed certain facts and those facts, if true, would have satisfied missing element, then Δ would be guilty of attempt of offense.
5. D not guilty of the completed crime of murder because victim was not conclusively alive at the time of shooting. (I.e. impossible to kill a dead person). However, if circumstances were as the Δ believed them to be and Δ thought victim was alive when he shot him, action would have been murder. D is guilty of attempted murder.  Dlugash.    

6. Impossibility Hypo: 

a) Statute: “driving with open container of alcohol” (CA)

b) Facts: CA driver is stopped by CHP and he has open bottle containing amber liquid.  Driver thinks it is a beer and is about to drink it when he is pulled over.  He gives officer the beer but CHP officer determines that it is root beer not alcohol.

(1) He cannot be convicted of this offense b/c there was no alcohol in the car.

(2) But he can be convicted of attempt at this offense.

(a) Act: yes, he is driving with open container

(b) MR: strict liability offense, purpose attaches to driving (purposely driving)

(c) Missing: actual alcohol (Impossibility Element)

(d) We hypothesize that Δ believed it was alcohol and since if his beliefs were true he would be guilty then he is culpable of attempt. 
(3) Same facts but now in TX where there is no law against open containers of alcohol in the car.  

(a) He cannot be liable under MPC approach to attempt b/c there is no statute making him liable.  
Affirmative Defenses:

Self-Defense, Intoxication, Insanity 
Excuse – excuse criminal responsibility for an action that they did.  The action was unlawful, but we don’t hold them criminally liable for it. “What you did was wrong, but you don’t understand wrong” – subjectively (individually) viewed situation.
Justification – self defense, we think the action itself was morally justifiable.  “You did what you did, but what you did is OK” – objectively viewed situation.
E. Self-defense – justification, not an excuse – D has burden of production, Pros has burden of persuasion
a. Rule  – If D honestly and reasonably believes he faces a threat of imminent unlawful death or great bodily harm, he may respond with deadly force as is necessary to dispel the threat.  We expect to hear D say “I feared for my life” – acting out of fear.
i. Great bodily harm = causing significant physical injuries or death – imminent threat to the body. 
1. Includes set of serious felonies (robbery, rape, kidnapping etc.)

ii. Need to use some sort objective standard of reasonableness when evaluating person’s use of self-defense – can’t be completely subjective, otherwise we open the door to any belief.
1. Man who had previously been mugged, kills teenage boys on subway who ask him for money.  Defense argues his reaction must only be reasonable to him while Prosecution argues for objective standard.  Court applies objective standard but takes into account his previous experiences in similar situations (in the argument that such experiences create expertise), finding him not guilty. Goetz. 
iii. Can also incorporate subjective standard of “reasonableness” – look at things the way D perceived them.  Look at victim how he perceived things.
iv. Implicitly involves a judgment of victim – if victim is a bad actor, we look at things differently, how do we feel about what the victim is doing?
v. Battered Woman’s Syndrome:  seeks to explain behavior of woman when it may appear to others that she could have escaped her abusive relationship.  Provides explanation for her learned helplessness, skewed perception of reality, fear of retaliation, etc.  It is not a defense but D can present evidence of syndrome to aid jury in understanding her “honest and reasonable belief” underlying use of self-defense. (Kelly)
1. Honest – Testimony aids the defense in proving why she truly felt imperiled, life-threatened; why she “didn’t just leave” him. 
2. Reasonable – It is still an objective standard of reasonableness.  However, past experiences can be discussed. 

a. Defense would argue it shows that she may be an expert on his behavior and can better judge when he will use deadly force (perception of threat). 
b. Prosecution would argue her past experiences caused a “short fuse” overreaction. 

3. As a whole, syndrome evidence helps to make what may look like minimal external factors to the jury seem more severe in the eyes in of the D because of past experience/syndrome.

b. Imperfect self-defense – (accepted in CA, MPC idea).  The D has an honest belief, but it is not reasonable.  D felt threatened, but there’s no strictly-objective “reasonable” way that he could have felt threatened.
i. Mitigate the crime of murder to manslaughter based on provocation that caused strong emotion or anger and the D “unreasonably”/”unjustifiably” acted because of that anger.  Can use in battered woman cases.

c. Defense of another – A third party may also use self-defense to come to the aid of another who is in immediate danger of deadly force, so long as the response is proportionate and only to the extent necessary to dispel the harm.  
i. Person who comes to rescue of another stands in shoes of person being rescued.  

1. If person you are rescuing has no right to defend herself, neither do you.  You must reasonably interpret the situation.   
ii. Most jurisdictions have a “reasonable belief” rule.
d. Retreat Requirements
i. Retreat Rule (MPC): In response to imminent deadly force, if innocent party wants to use deadly force in return, he is required to first consider retreat and do so if he knows that a completely safe retreat is possible.  
1. Was D faced with non-deadly force or deadly force?  
2. If he’s faced with non-deadly force, he may respond with proportionate non-deadly force, no need to retreat.  
3. If he’s faced with deadly force, he may respond with non-deadly force, no need to retreat.  
4. If he’s faced with deadly force and wants to use deadly force in response, two rules apply: (see below)

A. True-man rule:  D can respond with deadly force no matter what; 
B. MPC retreat rule – If he KNOWS of a COMPLETELY SAFE avenue of retreat he is not justified in responding with deadly force; otherwise he is justified in responding with deadly force.
ii.  NO RETREAT EVER REQUIRED WHEN IN YOUR OWN HOUSE.
e. EXCEPTION TO SELF DEFENSE USE: Initial aggressor – individual initiating action in an affirmative, unlawful, and reasonably calculated manner so as to produce fear of injurious or fatal consequences

i. Once an aggressor, always an aggressor, UNLESS we have verbal renunciation and/or physical withdrawal. – Common Law
1. Withdraw: doing something to demonstrate that he no longer wishes to pursue the conflict (speak or run)
2. Aggressor, by virtue of his provoking conflict, cannot use SD unless he becomes the non-aggressor (through withdrawal).
a.  Man unsuccessfully used SD as defense after someone comes onto his property to steal windshield wipers off his car and he responds by shooting him.  When he entered his home to retrieve his gun and then returned outside, he became the aggressor by initiating use of deadly force and thus employing much more force than entitled to. Peterson.
b. If person initially uses non-deadly force and victim responds w/deadly force, initial aggressor can do NOTHING.   – common law
ii. Last Wrongdoer – MPC

1. Aggressor is last person to wrongfully escalate level of violence.
2. If initial victim is attacked (with non-deadly force) and he responds with DEADLY force (thus becoming the last wrongdoer), then initial aggressor may use self-defense against initial victim.

3. It justified to use force in self-defense against the initial victim, provided the victim is the “last wrongdoer”
iii.  If someone is baiting someone else into an initial aggression, the person who responds to baiting is not the initial aggressor.

F. Intoxication

a. Voluntary – MR defense
i. 2 questions: Where does the law allow voluntary intoxication to negate MR?  And when is it likely to work?
ii. Common law: Specific v. General intent (look at the statute) – CA law 
1. General Intent offense –Simply describes wrongful act itself, without reference to intent to do further act or achieve a future consequence no voluntary intox evidence:  
a. Breaking and entering – knowing unlawful entry into a structure.
b. Rape is general attempt offense (no vol intox evidence
2. Specific Intent offense – Presents 2 MR, wrongful act and an intent to do some further act as well (look for key phrases: “with intent to,” “with knowledge that,” “for purpose of”)  voluntary intox evidence OK
a. Examples: 
i. attempt = with intent to commit offense – VOL INTOX ALWAYS USABLE IN ATTEMPT OFFENSES.
ii. Attempted rape is specific intent offense (vol intox evidence OK)
iii. Burglary = breaking and entering with intent to commit crime therein  -  vol intox evidence OK - “I was just looking for a place to crash”
b. Can use intoxication to negate MR. (not that defendant did not have the capacity, just that he did not have the MR)   
3. Defendant resisted arrest by officer.  They struggled and defendant shot officer.  Charged with assault with a deadly weapon.  Voluntary intoxication evidence  not allowed as defense b/c a general intent offense.  Hood.
iii. MPC: 
1. Voluntary intoxication evidence can only attest to whether D did or did not have the particular MR, not as to whether he had the capacity to do what he did.  
2. It can only be presented to negate purpose or knowledge MR, but NOT recklessness or negligence MR.  The idea is that if you intentionally obscure your awareness, you can’t use your unawareness as a defense.  
a. d convicted of attempted murder of police officer although he claims he was too drunk at time of assault to form necessary MR (purpose) for murder.  Court says he chose to drink, thus his inhibitions were lowered and cannot grant excuse that he acted only b/c of lowered inhibitions.  If he was aware of his actions (had capacity to understand) then he needs to be responsible for them.  Roberts. 
iv. Overall, NEED TO KNOW NOT JUST WHETHER AN ARGUMENT IS ALLOWED, BUT WHETHER IT WILL WORK.  
1. Evaluate under both common law and MPC rules.
2. If argument is made, will intoxication work to negate MR or is it consistent with D’s actions?  (based on the facts)
- specific intent “assault w/intent to cause gbh” – alcohol reduces inhibitions but D can still form intent
- we won’t allow argument in case of “recklessness” – where D could say “I wasn’t aware of a substantial risk” because alcohol clouded my judgment.
b. Involuntary – affirmative defense rather than MR defense
i. Instances of involuntary intoxication:
1. Person was coerced into taking intoxicant
2. Person has no notice of intoxicating effects (ie: taking prescription drugs in combination with something else ( unaware of the effects) 
3. Person has extreme reaction to substance and has no notice of that extreme reaction 
ii. Three ways to argue:
1. MR negation argument: no purpose, knowledge, or recklessness (voluntary intox cannot be used to negate recklessness MR)
2. Negates the act requirement – if the physical act is a seizure or involuntary movement.
iii. Build theories about what the person was thinking/doing, who the person is, whether alcohol caused him to see the situation differently, or made him more or less likely to act.

G. Insanity

a. Threshold requirement: 
i. Long term mental illness must be shown to use insanity defense.
b. Defendant must be competent to stand trial.
i. Must be mentally present and understand the nature of the proceedings.
1. Most can be returned to state of competence with assistance of medication and then trial can proceed.
2. If no prospect of recovery then criminal process can go no further.
ii. Must be able to assist counsel.
c. Defendant must choose to assert insanity as a defense.  Burden of proof falls on defense. 
d. If acquitted by insanity defense defendant faces civil commitment.
i. Purpose is to treat for mental illness, not to punish.  
ii. Only way to be released is to show no longer mentally ill or dangerous to society. 
iii. No restriction on length of term.
e. Mental disease/defect tests:
i. McDonald – An abnormal condition of the mind that substantially affects mental/emotional processes and substantially impairs behavior controls.
1. Usually established by expert’s diagnosis, demonstrating serious mental illness that does indeed affect thinking/ feelings and behavior 
2. Applied to Cassassa:
a. Abnormal condition of mind: yes
b. Affects normal processes: yes
c. Substantially impairs behavior controls:  hard to determine whether he can control his behavior but he did act peculiarly due to his mental state
d. Could potentially mitigate what he has done under McDonald test
3. APA – Only those severely abnormal mental conditions that grossly and demonstrably impair a person’s perception or understanding of reality (and that are not attributable primarily to the voluntary ingestion of alcohol or other psychoactive substances).
a. Requires psychosis: break with reality 
i. Example: Green – carries paper bag with him everywhere for company; Joy Baker – thinks demons are out to get her 
b. Applied to Cassassa: 
i. Severe mental condition: not exactly, he is feeling what others feel after being dumped only more acutely 
ii. Grossly impair perception of reality: no, his world is not different from ours, just has a distortion of the situation
c. Under APA test he is not psychotic, just has emotional problems 
d. Usually APA test requires medical diagnosis of a severe problem 
f. Insanity Tests:
i. MPC test: Because of mental disease/defect, the defendant lacks substantial capacity to: 
1. Appreciate the criminality of conduct.  (cognitive prong). OR
2. Conform conduct to requirements of law.  (volitional prong).
a. Broader test than M’Naghten, more favorable to defendant 
b. Applied in Green:
i. Presents persuasive picture of someone operating his entire life under mental illness.  Clash between moral, legal, and medical principles as to what constitutes mental disease.    
ii. Found guilty for 2 reasons - he killed a police officer and jury would be worried if he was out on the street.  Jury unaware of punishment and that if acquitted he will not be set free.
ii. M’Naghten Rule: 
1. Defendant has some kind of mental disease or defect.
2. Did not know the nature/quality of act, OR
a. usually not an issue b/c means Δ is fundamentally confused about situation, mistaking objects and their qualities – ie: didn’t know he was using a gun.
3. Did not know that his conduct was wrong.
a. Applied to M’Naghten: 
i. Act – voluntarily shot victim (conscious, not coereced)
ii. MR – purpose to kill Prime Minister (same MR for secretary b/c of transferred intent doctrine)
iii. Causation – direct link between shooting and death 
iv. Motive – Tories were out to get him (delusion ( insanity comes into play)
v. Test: 
1. M probably has some kind of mental defect.
2. M knew nature of his acts.
3. M thought he was justified in what he was doing b/c Tories were out to get him.
iii. Differences:
1. M’Naghten Rule:
a. No volitional prong. 
b. “Know” suggests a binary decision - either he knew or didn’t know. 
2. MPC:
a. “substantial” indicates he can still be insane even if he had some ability to know what he was doing
b. someone’s “capacity” to do something is difficult to discern 
c. “appreciate” requires more emotional understanding (knowledge fused with affect) as opposed to simply knowing the wrongness of the conduct on intellectual level.  
iv. 2 Possible Responsibility Arguments:
1. Cognitive: thinking processes person goes through are disruptive
2. Volitional: mentally ill are out of control/ compelled to do what they do
a. Almost never an excuse without cognitive argument as well 
v. Lyons case:  Δ knowingly/ intentionally secured narcotics but claimed he was addicted to the pain meds and this addiction was a mental disease that should allow for insanity defense.  Ct said he chose to take drugs and therefore no insanity allowed.
1. His addiction is compulsive behavior based on internal forces, not external.  
2. Court moves away from the volitional prong of the MPC, claiming that medical experts are unable to tell whether people are able to resist certain impulses or not.
g. Insanity Analysis:
i. Come up with factual theory of the case/ story you will tell.
ii. Mental disease and defect Tests: McDonald & APA
iii. M’Naughten Test
iv. MPC Test – both prongs 
h. Diminished Capacity – decision to recognize it made in Brawner case
i. Diminished Responsibility v. Diminished Capacity
1. DR: (MPC’s rule about EED) because someone is acting under EED they are acting under a temporary mental illness that may mitigate punishment  
2. DC: (MR argument) by virtue of mental illness that doesn’t reach level of insanity, defendant lacked MR for offense
ii. Diminished Capacity Rules:
1. MPC – mental illness testimony is available to negate MR terms (purpose, knowledge, recklessness)
2. Common Law (CA – Diminished Actuality)
a. Can only be used to negate MR, not capacity to have MR.  
i. General intent offense: can’t use mental illness to negate
ii. Specific intent offense: can use mental illness to negate
1. Knock out higher offense but still have lower offense
H. Rape is:
1) sexual act – the basic act

2) nonconsent – the victim must not have agreed to the sexual act.

3) by force or threat of force, showing recklessness or negligence as to consent of the other; evidenced by

a) physical force – guns, knives, or other applications of physical force OR

b) threat sufficient to cause reasonable fear – at the heart of the controversy
If a person uses force OR if they use a threat of physical force, what we are saying is that they are actually aware or at a minimum should be aware that the person is not consenting.

Force is essential element.  Victim must establish lack of consent either through proof of resistance or proof that failure to resist was due to fear.  Fear need not be of imminent or serious bodily threat, it just needs to be reasonably grounded.  Resistance does need not be active and may involve submission.
a. Responsibility:

i. fact contest: what happened 

ii. responsibility contest: who is responsible for what happened 

b. Rusk case: Acquaintance Rape – Δ argues victim consented b/c she did not resist his advances, nor did he use any physical violence or express threats of harm.  Victim says she was afraid that he would hurt her if she did not consent to his wishes, which she did after he began choking her.  Convicted b/c threat of force was sufficient to show rape.
I. Accomplice Liability.

a. Overview of Accomplice Liability Analysis:
i. ID Primary Actor – one doing the physical act on which criminal liability may be based 
ii. ID Secondary Actor – director or promoter of primary actor’s conduct  
iii. Primary Actor Liability:
1. Who committed offense?  Is primary actor liable for crime?
a. If he is not liable:
i. Did secondary actor direct his conduct?  (coerce, dupe, etc)   
ii. Did he not complete offense at all? ( MPC 5.01 attempt analysis for secondary actor.
b. If he is liable:
i. Does he have Act, MR, etc. of offense necessary for conviction?
iv. Secondary Actor Liability:
1. If primary actor committed offense:  
a. Common law accomplice liability analysis (Act, MR)
b. If secondary did not actually encourage/ promote primary’s conduct, did he attempt to? ( MPC 2.06 analysis
b. Common Law – defendant charged with accomplice liability must have done:
i.  Act of promotion or encouragement
ii. With purpose to encourage/ promote primary actor’s offense
1. Hicks (Secondary Actor) is present during confrontation between Rowe (Primary Actor) and Colvard.  He says, “Take off your hat & die like a man” after which Rowe shoots and kills Colvard.  Rowe is killed, Hicks is the only person left to blame.  Ct. stated that his presence alone was not sufficient and that his words lacked MR. Hicks.
a. Act of encouragement – Statement “Take off your hat & die like a man”

b. Purpose to encourage (MR) – Ct did not find any

2. Thompson (confidential police informant) approaches Gladstone (Secondary Actor) about purchasing marijuana.  He directs him to Kent (Primary Actor) by drawing him a map to his apartment.  G charged with aiding K in sale of marijuana.  Ct held there was no promotion or evidence of encouragement by G to the seller.  No indication the two are in business together, etc.  Cannot convict under Acc Liability for mere communication of someone who will commit the illegal act.  Gladstone.  
a. Act of encouragement – didn’t encourage Kent per se, but he did make Kent’s sale to Thompson much more likely (directed buyer to seller)
b. MR – lack of conscious object to assist Kent in sale (G benefits in no way by K’s sale to T)
c. Act Requirement for Accomplice Liability:  
i. Hawkins performs illegally in England.  Wilcox is journalist who attends concert and writes a positive review.  He is convicted as accomplice, despite the fact that the concert would have taken place without him.  Wilcox v. Jeffrey.
1. Hawkins – Act: plays illegally as a foreigner in England.
2. Wilcox – 
a. Act of encouragement: purchased concert tickets, did not object to concert, wrote a favorable review of performance.
b. MR: purposely promoted and encouraged concert.
3. Rule: Not much is required for act requirement.  Don’t need “but for” relationship.  Sufficient that actor has done something that assisted, promoted, encouraged OR COULD theoretically encourage promote/facilitate.  
ii. Common law requirements:
1. Need actual assistance in actual offense by primary actor.
iii. MPC requirements:
1. All cases covered by common law AND
2. Attempted assistance to an actual offense (§2.06(3)(2))
a. Offense by principal is committed and accomplice is either actually assisting or attempting to assist 
i. Defendant will be guilty of accomplice to an attempt.  
3. Attempt liability where there is no offense by principle (§5.01(3))
a. Principal does not commit the crime but accomplice does everything he can do.
i. Defendant will be guilty of attempt of offense.         
iv. Hayes asks Hill to rob a store with him.  Hill agrees but only b/c it is his relative’s store and he wants to set up Hayes.  Hill actually commits the breaking and entering, not Hayes but b/c Hill lacks criminal intent Ct cannot find Hayes guilty.  Without offense by primary actor common law accomplice liability cannot be used.  Hayes.
v. Judge Tally sends telegram to stop a warning telegram from reaching Ross.  The warning was to tell Ross that the Skelton brothers are after him and going to kill him.  The operator failed to deliver either telegram to Ross.  Skelton brothers found him and killed him.  Judge convicted as an accomplice to his murder.
1. Doesn’t matter that his telegram never stopped the warning telegram.  Judge made a contribution to Ross’s death.  No but for relationship is needed.  
d.   When Primary Actor does something different than anticipated by Secondary Actor:  
i. MPC (strict MR approach)
1. Does the secondary actor have the purpose to promote particular offense that primary actor unexpectedly committed?
a. If not, then no accomplice liability.  
ii. Luparello Approach (reasonable foreseeable consequences/ less strict)
1. Defendant has 3 elements:
a. Done Act & MR sufficient for accomplice liability of crime A.
b. Primary actor commits crime B.
c. Commission of Crime B is a reasonably foreseeable consequence of encouraging crime A.  
i. Defendant may be held as accomplice to crime B.
2. Luparello wants to find his former lover so he tells friends to interrogate friend of her husband and find out about her “at any cost.”  Friends end up killing friend and L convicted of 1st degree murder b/c ct held the resulting death was a natural and probable consequence of L’s actions.  Luparello.    
a. Act – statement of “at any costs” invites friends to resort to violence (crime A).  Purpose – wanted info., regardless of assault or harassment that may result.  
b. Friends end up killing victim (crime B). 
c. Reasonably foreseeable that something like this would happen.
i. Thus, Luparello is liable for crime B (murder).
3. When looking at other cases, compare level of foreseeability to Luparello.
iii. Can you be an accomplice for a reckless or negligent offense?
1. Yes, attach purpose necessary for accomplice liability to basic conduct being promoted and then see if the actor has requisite recklessness.  
e. Individualization: Primary & Secondary Actors working together towards same offense but each may have different MR:
i. Normally, primary actor will have higher MR than secondary actor.  No problem separating liability and convicting separately.  
ii. Difficulty: when accomplice has higher MR than primary actors.  
1. Richards hires thugs to beat up her husband so that he will end up in hospital, she will care for him and save marriage.  Instead, husband is beaten up but not badly.  Thugs convicted of misdemeanor assault (infliction of minor bodily harm) but Richards convicted of felony to commit great bodily harm.  She appeals b/c she thinks as accomplice she cannot be convicted of higher crime than thugs.  Ct agrees, can’t individualize here.  Regina v. Richards.  
iii. 2 Approaches:
1. Common Law
a. Homicide – no restrictions on individualization
i. Look individually at each person, decide MR.
b. Nonhomicide offense – degree of liability of accomplice is limited to degree of offense actually committed by principal.  Richards.
2. MPC – permits individualization of liability according to accomplice’s MR.
a. Both homicide and nonhomicide offenses.  
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